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099/2025                           

Maximum : 100 marks 

Time : 1 ąûĒkĕœ  30 ąĒĀĒŨĝ 

1. The first missionary to India sent by London Mission Society was : 

(A) William Carey (B) Nathaniel Forsyth 
(C) A. Duff (D) Marshman 

2. Which of the following is not a work of Rammohan Roy? 

(A) The Precepts of Jesus (B) Brahma-Puthalika Samvad 
(C) Gift to Monotheists (D) Brahmo Dharma 

3. Which of the following reform organisations had their origin in Western India? 
(i) Paramahansa Mandali 
(ii) Manav Dharma Sabha 
(iii) Prarthana Samaj 
(iv) Arya Samaj 

(A) Only (i) & (iv)  
(B) Only (i), (iii) & (iv) 
(C) Only (iii) & (iv)  
(D) All the above ((i), (ii), (iii) & (iv)) 

4. Which work of Sri Narayana Guru is written partly in Sanskrit and partly in 
Malayalam? 

(A) Jivakarunyapanchakam (B) Anukambadasakam 
(C) Jatimimamsa (D) Kundalinippattu 

5. Which of the following statements are not correct with respect to Ayyankali? 
(i) The Villuvandi Samaram was in 1907 
(ii) The Sadhu Jana Paripalana Yogam was founded in 1893 
(iii) In 1915, he was involved in the Kallumala and Irumpuvala agitation 
(iv) Ayyankali was not a supporter of Sri Narayana Guru’s Brahmavidya 
 (A) All the above ((i), (ii), (iii), (iv))  

(B) Only (i) 
(C) Only (i) & (ii)  
(D) Only (i) & (iv) 

6. Match the following Organisations and their leaders and find out the correct answer 
from the choices given : 

(i) National Indian Association (a) Dadabhai Naoroji 
(ii) Indian Society (b) Sisir Kumar Ghosh 
(iii) East Indian Association (c) Mary Carpenter 
(iv) India League (d) Ananda Mohan Bose 

(A) (i) – (c),  (ii) – (d),   (iii) – (a),   (iv) – (b)  
(B) (i) – (d),  (ii) – (b),  (iii) – (a),  (iv) – (c) 
(C) (i) – (a),  (ii) – (d),  (iii) – (b),  (iv) – (c)  
(D) (i) – (d),  (ii) – (c),   (iii) – (a),   (iv) – (b) 
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7. Arrange the following events in chronological order : 
(i) Surat Split 
(ii) Lucknow Pact 
(iii) Chauri-Chaura incident 
(iv) Rowlatt Bills 

(A) (i), (ii), (iii), (iv)  
(B) (i), (ii), (iv), (iii) 
(C) (i), (iv), (ii), (iii)  
(D) (ii), (iv), (i), (iii) 

8. After the denial of the eleven point ultimatum by the British government Gandhi began : 

(A) Champaran Satyagraha  
(B) Non-Cooperation Movement 
(C) Civil Disobedience Movement  
(D) Quit India Movement 

9. Who was the first president of Travancore State Congress? 

(A) Pattom A. Thanu Pillai (B) C. Kesavan 
(C) T.M. Varghese (D) N.V. Joseph 

10. The first All Kerala Political Conference was held at : 

(A) Manjeri (B) Vadakara 
(C) Kozhikkode (D) Ottappalam  

11. Kollam Era was started in : 

(A) 825 CE (B) 72 CE 
(C) 320 CE (D) 606 CE 

12. Which of the following statements are correct with respect to Dadasaheb Phalke Award? 
(i) The Award was instituted in 1969 
(ii) It is an annual award given by Dadasaheb Phalke Trust 
(iii) Dadasaheb Phalke is considered as the father of Indian Cinema 
(iv) Devika Rani was the first recipient of the Award 

(A) Only (i) 
(B) Only (i), (iii) & (iv) 
(C) Only (i) & (ii) 
(D) All statements are correct ((i), (ii), (iii) & (iv)) 

13. In which year was the Universal Declaration of Human Rights adopted by the UN? 

(A) 1945 (B) 1946 
(C) 1947 (D) 1948 
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14. Which of the following statements are correct with respect to Shubhanshu Shukla? 
(i) He is the first Indian to visit the International Space Station 
(ii) He is a Group Captain in the Indian Air Force 
(iii) He is a native of Madhya Pradesh 
(iv) He is the second Indian ever to travel to space 

(A) Only (i) & (ii)  
(B) Only (i), (ii) & (iii) 
(C) Only (i), (ii) & (iv)  
(D) Only (iii) & (iv) 

15. Who is the Air Chief Marshal of India? 

(A) A.P. Singh (B) Vyomika Singh 
(C) R.K. Singh (D) Birender Singh 

16. How does the historical evolution of a subject influence its modern curriculum relevance? 

(A) It serves as background information without practical application 
(B) It helps in selecting outdated content for academic continuity 
(C) It provides a foundation for understanding the subject’s current significance 

and teaching strategies 
(D) It discourages innovation by emphasizing traditional methods 

17. What is a major objective of curriculum reforms like NCF and KCF? 

(A) To standardize teaching styles across all schools 
(B) To align education with learner needs and 21st century skills 
(C) To remove local content and emphasize global ideas 
(D) To emphasise the teacher’s autonomy in curriculum planning 

18. Which of the following is the evolving role of a teacher in today’s Education System? 

(A) Content Deliverer (B) Strict Evaluator 
(C) Reflective Practitioner (D) Knowledge Transmitter 

19. A teacher records recurring difficulties faced by students in understanding a topic and 
implements small changes in strategy. Which professional practice does this represent? 

(A) Continuous and Comprehensive Evaluation  
(B) Action research 
(C) Peer observation  
(D) Summative assessment 

20. A teacher includes role-play, music, drawing and group work in a single lesson. What is 
this approach primarily based on? 

(A) Piaget’s Developmental Stages  
(B) Vygotsky’s Social Constructivism 
(C) Gardner’s Theory of Multiple Intelligences  
(D) Bruner’s Modes of Representation 
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21. 30 íĒĘĉđŗïđÝ ĄđćąĔll oćĔ ėsĹ èíĘþčÝ ðœĎûčĕĀŖąđĆ ďąüĉąđĆ 
éďĒėn uāćĒüĉtĒŔ 5 ąēƃœ ĀēĊąĔll oćĔ íĆĈĒŔ ĘāđsĒŔ ėíŨĒĆĒćĒkĔnĔ. 
oćĔ üŨŔ ĉĄĒcüĒĀĔĘčĎÝ, ėsĹ ĘāđsĒėn òĔƃƧÝ èíďŦđć ČĖtāđüĆĒŔ 
ďŦćĒkđŒ üĔ÷šĔnĔ. ėsĹ ëĘćđ ąĒĀĒƃĒĉĔÝ 10 āĕœŬ òŗíšŕ āĕœtĒĆđ 
kĔĘmđŕ, aüĒėn üēŗČü eŗüĆđĆĒćĒkĔÝ? 

(A) 4.5 m/s2 (B) 2 m/s2  

(C) 3.28 m/s2 (D) 6.2 m/s2 

22. oĘć āĒūČĔÝ oĘć àćČĔÝ ull ùĒŏíĔÝ oćĔ ČĊĆČĔÝ aČĆĔė÷ acƧüŪĒŀ 
òĔƃƧÝ íĈšĔnĔ. aĘpđŕ :  

(A) ùĒŏíĒėn ĘíđûēĆ ŗāĘČïÝ ČĊĆtĒėn ĘíđûēĆ ŗāĘČïtĒėn 
ićŨĒĆđĻ 

(B) ČĊĆtĒėn ĘíđûēĆ ŗāĘČïÝ ùĒŏíĒėn ĘíđûēĆ ŗāĘČïtĒėn 
ićŨĒĆđĻ 

(C) ùĒŏíĒėnĆĔÝ ČĊĆtĒėnĆĔÝ ĘíđûēĆ ŗāĘČïÝ onĔüėnĆđĻ 

(D) ąĔíĊĒŔ āĈŧČ onĔąĉī 

23. 0.5 íĒ.ŗïđÝ āĒūąĔll oćĔ Ębđkĝ, k = 200 N/m en ăĉs sĒćđŠąĔll oćĔ 
ŏŗāĒÝïĒŔ ð÷ĒpĒcĝ ðœĎûćĐĒüąđĆ oćĔ üĒćƆēĀ ŗāüĉtĒŔ sđāĒkĔnĔ. 
iļ ďnĔĉĒüđČsĆĒŔ ĀĒnĝ 5 ėďnĒąēƃœ aíĉÝ e÷Ĕtĝ ĀĒƆĉđČsĆĒŔ 
ĀĒnĝ āĔĈtĔČĒ÷ĔnĔ. ąnĀtĒėn ďąĆ íđĉĆĊŌ _______  àĻ. 

(A) 1.2 s (B) 2.5 s 

(C) 0.5 s (D) 0.31 s 

24. aŉāÝ ČŖüŖŏüąđĆ àČĖtĒĆĒĉĔll ćŪĝ čb üćÝïšŕ, f1 = 440 Hz uÝ  
f2 = 444 Hz uÝ oĘć ďąĆÝ Ęp ėòyėp÷ĔnĔ. 10 ėďkŒùĒĀĔllĒŔ eŗü ăēƃƧíŕ 
ĘíŕkĔÝ? 

(A) 30 (B) 35 

(C) 40 (D) 45 

25. 100 ąēƃœ ĀēĊąĔll oćĔ ĄđČĒ ăĐĒćđíđč ípŔ 0.6 c ĘČïüĆĒŔ ĄĕąĒėĆ í÷nĔ 
ĘāđíĔnĔ. ípĉĒĀĔllĒŔ ićĒkĔn íąđŒùœ ęĉĈ, ípĉĒėn ąĔċĔČŒ  
100 ąēƃœ ĀēĊČĔÝ aĄĒąđĀĘtđė÷ Ęćîėp÷ĔtĔnĔ. aĘüďąĆÝ, ĄĕąĒĆĒėĉ oćĔ 
ĀĒćēkûđĉĆtĒŔ ĀĒnĝ ČēkĒkĔn Ęùđ. ĘĈ, ípĉĒėn ĀēĊÝ ďřnąđĆĒ aĊ 
kĔnĔ. 
Ęùđ. ĘĈ Ā÷tĒĆ ĀĒćēkûÝ üđėċpĈĆĔnČĆĒŔ èüđĻ èƃČĔÝ ąĒícļ? 

(A) Ęùđ. ĘĈ 100 ąēƃĈĒŔ íĕ÷ĔüŔ aĊkĔnĔ, íđćûÝ ípĉĒėn uĆœn 
ĘČïü íđćûÝ aļ ĀēŪĔĀĒŔkĔnĔ. 

(B) Ęùđ. ĘĈ íĖüŖąđĆĒ 100 ąēƃĈĒŔ íĕ÷ĔüŔ aĊkĔnĔ, íđćûÝ ĀēĊÝ 
ČŏüĔČĒėn oćĔ ànćĒí ďřtđĻ. 

(C) Ęùđ. ĘĈ 100 ąēƃĈĒŔ üđėċ aĊkĔnĔ, íđćûÝ aĘdĐtĒėn ėŗĂĆĒ 
ąĒŔ ípŔ òĉĒkĔíĆĔÝ ĀēĊ ďĘŠđòtĒŀ ČĒĘÿĆąđČĔíĆĔÝ ėòyƧnĔ. 

(D) Ęùđ. ĘĈ 100 ąēƃĈĒŔ üđėċ aĊkĔnĔ, íđćûÝ aĘdĐÝ òĉĒkĔn 
ėŗĂĆĒąĒĉđĻ, òĉĒkĔn ėŗĂĆĒąĔíŕ ĀēĊ ďĘŠđòÝ ĀĒćēkĒkĔnĔ. 
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26. oćĔ ăĐĒćđíđč Ęā÷íÝ 0.8 c ĘČïüĆĒŔ ĄĕąĒĆĒĘĉkĝ ĘĀćĒŨĝ ĀēšĔnĔ, iČĒė÷ c 
enļ ŗāíđčĘČïüĆđĻ. aļ ďřnÝ ėŗĂĆĒąĒŔ f = 1.0 × 109 Hz àČĖtĒĆĒĉĔll 
oćĔ ĘĈùĒĘĆđ ďĒgŔ āĔĈėp÷ĔČĒkĔnĔ. ĄĕąĒĆĒėĉ ĀĒćēkíŒ aĊkĔn 
ďĒgĉĒėn àČĖtĒ : 

(A) 1.8 × 109 Hz (B) 2.2 × 109 Hz 

(C) 0.18 × 109 Hz (D) 3 × 109 Hz 

27. 2 ąēƃœ ĀēĊČĔÝ 1 × 10–6 m2 Ęŗíđŏ-ėďkûŔ èćĒĆĆĔąĔll oćĔ ČĆœ, Ćıŏ 
ĘąđùĔĉŏ Y = 2 × 1011 Pa ull oćĔ ėąƃēćĒĆŔ ėíđŪđĻ ĀĒœmĒcĒćĒkĔnļ. 
ČĆœ ĀēŨđŒ F en ăĉÝ ŗāĘĆđïĒkĔĘmđŕ, aüĒėn ĀēĊÝ 1 ąĒĉīēąēƃœ 
ČœdĒkĔnĔ. aĘü ďąĆÝ, oĘć ėąƃēćĒĆĉĔÝ ĀēĊČĔÝ enđŔ aüĒėn ićŨĒ 
ČŖđďČĔąĔll ćŪđąėt ďąđĀąđĆ ČĆĈĔÝ aĘü ăĉÝ F uāĘĆđïĒcĝ ĀēŨƧnĔ. 

(A) ćŪĝ ČĆĈĔíĊƧÝ oĘć ėąƃēćĒĆĉĔÝ ĀēĊČĔÝ ėíđŪĝ ĀĒœmĒcüĒĀđŔ oĘć 
aĊČĒŔ ĀēŨƧnĔ 

(B) ČĉĒĆ ČĒŏüēœŬÝ íđćûÝ íĔĈŧ ŗāüĒĘćđÿÝ ĀŔíĔnüĒĀđŔ 
íŨĒĆĔll ČĆœ íĀÝ íĔĈŧ ČĆĈĒĘĀkđŕ íĕ÷ĔüŔ ĀēŨƧnĔ 

(C) ĘĀœt ČĆœ íĕ÷ĔüŔ ĀēŨƧnļ Ęŗíđŏ-ėďkûŔ èćĒĆņkĝ ČĒāćēü 
aĀĔāđütĒĉđĆüĒĀđŔ àĻ 

(D) ĀēĊÝ ČĒŏüēœŬtĒŀ ČĒāćēü aĀĔāđütĒĉđĆüĒĀđŔ íŨĒĆĔll ČĆœ 
íĔĈĆĔnĔ, aüĒėn ČĒŏüēœŬÝ 4 ą÷šĝ ČĉĔüđĻ 

28. ‘R’ àćąĔll oćĔ íđpĒĉĈĒ 20ºC Ŕ ‘h’ uĆćąĔll ôĉ ČœdĀŌ íđûĒkĔnĔ. 
üđāĀĒĉ ČœdĒkĔíĆđėûŠĒŔ, uāćĒüĉ āĒćĒąĔĈĔkÝ íĔĈĆĔnĔ. 
iĀĒpĈĆĔnČĆĒŔ èüđĻ čćĒĆđĆ ĀĒćēkûÝ? 

(A) íđpĒĉĈĒĆĒėĉ ôĉĀĒćpĝ ČœdĒkĔnĔ 
(B) ôĉĀĒćpĝ ąđƃąĒĉīđėü üĔ÷ćĔnĔ 
(C) ôĉĀĒćpĝ íĔĈĆĔnĔ 
(D) íđpĒĉĈĒĆĒŔ ĀĒnĝ ėČllÝ íČĒėŧđċĔíĔnĔ 

29. íđƃƧll oćĔ þĒČďÝ, oćĔ ĀēŪ üĕkĔāđĉtĒĉĕė÷ oĘć ďąĆÝ ąđœcĝ ėòyƧn 
oćĔ íĕŨÝ ęďĀĒíœkĝ āđüĒČċĒĆĒŔ ā÷Ē ąĔĈĒcƧí÷kđŒ àjđāĒkĔnĔ. íđƃĝ 
aďđÿđćûąđÝČĒÿÝ čkąĉīđĆĒćĔnĒŨƧÝ, oćĔ āđĉÝ čkąđĆĒ àĘnđĊĀÝ ėòyđŒ 
üĔ÷šĒ o÷ĔČĒŔ üíœnĔČēû oćĔ ŗāďĒdąđĆ ďÝĄČÝ íąđŒùœ ëœmĒkĔnĔ. 
à üíœcņkĝ èƃČĔÝ íđćûąđĆ ĄĞüĒí ŗāüĒĄđďÝ èüđĻ? 

(A) āđĉÝ ð÷ĀđāćąđĆĒ þĔœăĉąđĆĒćĔnĔ; ðŨÝ ėāđŨƧnļ ïĔćĔüřđíœĎû 
üíœcņkĝ íđćûąđíĔnļ oċĒČđkĔnĔ. 

(B) ĀĒćnćąđĆ íđƃĝ āđĉėt ĘČïtĒŔ üûĔpĒkĔíĆĔÝ üđā ČĒllĉĔíŕ 
uŪđkĔíĆĔÝ ėòņüĔ. 

(C) aĀĔćûĀÝ uŪđĆĒ; üđĊđtíąđĆ ąđœcĒÝį aėĉīŠĒŔ íđƃĝ 
āđĉtĒėn ďřđĄđČĒí àČĖtĒĆĔąđĆĒ ėāđćĔtėp÷ĔíĆĔÝ 
àĘnđĊĀšŕ ČœdĒpĒkĔíĆĔÝ ėòņüĔ. 

(D) āđĉtĒŀ aąĒüąđĆĒ ùđmĒÝį aĀĔĄČėpŨƧ, iļ ďmœdÝ 

a÷ĒŧĔíĕ÷đĀĔÝ aļ ĘČœėā÷ĔtđĀĔÝ íđćûąđĆĒ 
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30. M = 100 kg āĒūČĔÝ R = 2 m àćČĔąĔll oćĔ èíēíĖü ČĖtđíĖüĒĆĒĉĔll 
pđƃĝĘĂđÝ ω0 = 2 rad/s en ŗāđćÝĄ ĘíđûēĆ ŗāĘČïĘtđė÷ ďřüŗnąđĆĒ 

íĈšĔnĔ. m = 10 kg āĒūąĔll oćĔ ėòĈĒĆ Ębđkĝ pđƃĝĘĂđąĒėn ąÿŖĄđïtĝ 
sđāĒcĒćĒkĔnĔ, aļ āĔĈĘtkĝ ĘĈùĒĆĉđĆĒ ęsĹ ėòyđŒ ďřüŗnąđĻ. 
ĘbđkĒĀĔÝ pđƃĝĘĂđąĒĀĔÝ i÷ĆĒŔ ðœĎûąĒĉī. Ębđkĝ āüĔėk āĔĈĘtkĝ 
(ířđďĒ-sđƃĒĭ àĆĒ) pđƃĝĘĂđąĒėn aćĒíĒĘĉkĝ ĀēšĔnĔėČnĝ íćĔüĔí. Ębđkĝ 
aćĒíĒŔ etĔĘmđŕ ďĒstĒėn ĘíđûēĆ ŗāĘČïÝ enđĻ? â ďřĄđČėt 
ĀĒĆŗnĒkĔn ĄĞüĒí üüřÝ enđĻ? 

(A) ω = 2  rad/s; pđƃĝĘĂđÝ ďąąĒüĒĆđĆüĒĀđŔ oćĔ ąđƃČĔÝ ďÝĄČĒkĔnĒĉī 
(B) ω < 2  rad/s, íđćûÝ ĘíđûēĆ àkÝ ďÝćkĒkėp÷ĔíĆĔÝ ôùüř ĀĒąĒĎÝ 

ČœdĒkĔíĆĔÝ ėòyƧnĔ 
(C) ω > 2  rad/s, íđćûÝ āĒūÝ aínĔĘāđíĔíĆĔÝ pđƃĝĘĂđąĒėĀ ĘČïtĒŔ 

ČĉĒkĔíĆĔÝ ėòyƧnĔ 
(D) aāĘíŗnăĉÝ íđćûÝ Ębđkĝ āĔĈĘtkĝ ĀēšĔĘmđŕ ĘíđûēĆ 

ŗāĘČïÝ āĕôŖąđíĔÝ 

31. oćĔ ĈĒĘČŋŏ ăĆđŏ ėďĀœ ùĘĆđùĒėn ànćĒí ĂēŔĹ eąĒĎŀ àČčŖąđĆ 
ęČþŖĔü ąūĉÝ èíĘþčÝ _______ V/m àĻ. 

(A) 0.7 (B) 1000 

(C) 1000000 (D) 100 

32. oćĔ ŗ÷đŒďĒsœ aüĒėn _______ Ąđïtĝ ŗāČœtĒkĔĘmđŕ àÝpĒĂĆœ àĆĒ 
uāĘĆđïĒkđÝ. 

(A) íŨĝ ëł (B) àĭ÷ēŌ 

(C) āĕćĒü (D) iČėĆđnĔąĉī 

33. ďđœČŗüĒí ĘïƃƧíĊđĆĒ íćĔüĔn ĘïƃƧíŕ : 

(A) NOR (B) AND 

(C) OR (D) NOT 

34. n üćÝ aœdòđĉíšŕ ĉĄĒkđŒ uāĘĆđïĒkĔn aāŗþČŖšŕ : 

(A) Bi (B) Al 
(C) In (D) Sb 

35. 1 C en òđœôĒŔ èíĘþčÝ eŗü iĉĭĘŗ÷đûĔíŕ uŪđČĔÝ? 

(A) 6 × 1018 (B) 6 × 1015 

(C) 6 × 1019 (D) 6 × 1027 

36. ęùĘāđŕ ėąđąnĝ enüĒėn ęùąŒĎĀĔíŕ : 

(A) LTA2 (B) LTA–1
 

(C) LTA (D) L–1TA 
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37. ïüĒčēĉüĆĔė÷ SI ĆĕûĒƃĝ : 

(A) m2 Vs (B) m2 / Vs 2 

(C) m2 / Vs (D) m / Vs 

38. ùĆđąđgƃĒĭ āþđœtšŕkĝ uþđĐćûÝ : 

(A) Al (B) Ca 

(C) N1 (D) Cu 

39. l ĀēĊąĔll oćĔ ĘĉđĐþūĒėĀ ďąíđnĒíąūĉÝ B  ņkĝ ĉÝăąđĆĒ v ŗāĘČïtĒŔ 

òĉĒpĒkĔíĆđėûŠĒŔ iüĒėn ćŪƃšĊĒĉĔ÷ĀēĊÝ ĘŗāćĒüąđíĔn emf : 

(A) 
v
lB

 (B) vlB  

(C) vlB 2  (D) 2vlB  

40. ŗāüĒĘćđÿíÝ ąđŗüąĔll ėďœkēŨĒėn (circuit) āČœ Ăđĭ÷œ _______ àĻ. 

(A) 0 (B) 90 

(C) 180 (D) 1 

41. üđėċ ünĒćĒkĔn ĈĒŗĂđĭ÷ĒŌ iŒùĭŏ )(n  ull ąđdŖąšĊĒŔ ŗāíđčÝ 

èƃČĔÝ íĕ÷ĔüŔ ĘČïüĆĒŔ ďŦćĒkĔnļ èüĔ ąđÿŖątĒŔ àĻ? 

(A) 3.1=n  (B) 4.1=n  

(C) 5.1=n  (D) 33.1=n  

42. oćĔ oŁƃĒĭ ęĂăĈĒėn ĀŖĕėąĈĒkŔ aĘāœòŖĔœ üđėċ ünĒćĒkĔn èėüĉīđÝ 

ð÷íšėĊ àĻ àŗčĆĒkĔnļ? 

(A) Ęíđœ ąđÿŖątĒėn ĈĒŗĂđĭ÷ēŌ iŒùĭďĒėĀ ąđŗüÝ 

(B) kđùĒı ąđÿŖątĒėn ĈĒŗĂđĭ÷ĒŌ iŒùĭďĒėĀ ąđŗüÝ 

(C) Ęíđœ ąđÿŖątĒėnĆĔÝ kđùĒı ąđÿŖątĒėnĆĔÝ ĈĒŗĂđĭ÷ĒŌ 
iŒùĭďĒėĀ 

(D) ĘąŔ āĈŧ onĒĘĀĆĔÝ àŗčĆĒkĔnĒĉī 

43. ćŪĔ āđœŨĒkĒŕŏ ull oćĔ ďĒstĒėn ĘĂŏ ŏĘāŏ ęùėąŒĎŒ üđėċ 

ünĒćĒkĔnČĆĒŔ èüđĻ? 

(A) 3 (B) 6  

(C) 12 (D) 9 
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44. ďđÿđćû üđāĀĒĉĆĒŔ ąđĭėďřŔ ĘăđŕķŏąđŒ ùĒŏŗ÷ĒăĕĎŒ Ęĉđ üđėċ 
āĈĆĔnČĆĒŔ èüĔ íûĒííŕ àĻ aĀĔďćĒkĔnļ? 

(A) ĘĂđĘŨđőŏ  (B) iĉĭĘŗ÷đő  

(C) ĘŗāđĘŨđőŏ (D) éùĒĆŔ ïŖđŏ ĘąđĊĒíŖĕŕŏ 

45. üđėċpĈĆĔnüĒŔ Ę÷đŨŔ iĘnûŔ ĈĒƘkŒ ŗíĒŨĒkŔ Ęíđő )(C  ąđĆĒ ănėpŨĝ 
čćĒĆđĆ ŗāŏüđČĀ èüđĻ? 

(A) 
d

rC
μ
μ=sin   

(B) 
r

dC
μ
μ=sin  

(C) rdC μμ=sin   

(D) None of the above 

  [ dμ – ŗāíđč ďđŗnü íĕ÷ĒĆ ąđÿŖątĒėn ĈĒŗĂđĭ÷ĒŌ iŒùĭŏ 

rμ – ŗāíđč ďđŗnü íĔĈŧ ąđÿŖątĒėn ĈĒŗĂđĭ÷ĒŌ iŒùĭŏ] 

46. oćĔ ĈĒĘČŋďĒăĒŔ aùĆėăƃĒĭ (Adiabatic) ĘŗāđďsĒŔ uŪđíĔn eŒĘŗ÷đpĒ 
ČŖüĒĆđĀÝ : 

(A) eŒĘŗ÷đpĒ íĕ÷ĔnĔ   

(B) eŒĘŗ÷đpĒ íĔĈĆĔnĔ  

(C) eŒĘŗ÷đpĒkĝ ąđƃÝ ďÝĄČĒkĔnĒĉī  

(D) iČėĆđnĔąĉī  

47. Ęĉďœ ĀĒœmđûtĒŔ uāĘĆđïĒkĔn ėïĆĒŒ ąđÿŖąČĔąđĆĒ ănėpŨ čćĒĆđĆ 
ŗāŏüđČĀ èüđĻ? 

(A) îćČŏüĔkŕ ąđŗüąđĻ uāĘĆđïĒkĔnļ  

(B) îćČŏüĔkĊƧÝ, ČđüíČŏüĔkĊƧÝ ąđŗüąđĻ uāĘĆđïĒkĔnļ  

(C) Čđüí ČŏüĔkŕ ąđŗüąđĻ uāĘĆđïĒkĔnļ  

(D) îćČŏüĔkĊƧÝ, ŗþđČíČŏüĔkĊƧÝ, ČđüíČŏüĔkĊƧÝ uāĘĆđïĒkđÝ  

48. ŗāíđčÝ ŗăĕėsœŏ ĘíđûĒŔ (Brewster’s angle) oćĔ ďĔüđćŖ ČŏüĔČĒŔ ČnĔ 
āüĒkĔĘmđŕ enđĻ ďÝĄČĒkĔnļ? 

(A) ŗāüĒĂĉĀ ćōąĒ (reflected ray) āĕœûąđĆĔÝ ĘāđĊęĈŏĹ ėòyėp÷ĔnĔ  

(B) aāČœtĀ ćōąĒ (refracted ray) āĕœûąđĆĔÝ ĘāđĊęĈŏĹ ėòyėp 
÷ĔnĔ  

(C) ĘāđĊęĈĘďĎŒ ďÝĄČĒkĔnĒĉī  

(D) iČėĆđnĔąĉī  
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49. ŗĂĒĶĴ ČĒĹļ (fringe width) íĕ÷ĔüŔ ull inœėĂėĈŒŏ āđĘƃő üđėċ 
ünĒćĒkĔnČĆĒŔ èüĔ ĘąđĘûđĭĘĈđąđƃĒĭ (monochromatic) üćÝïtĒĘnļ àĻ? 

(A) bƨ ęĉƃĝ (B) ėĈĹ ęĉƃĝ 

(C) ŗïēŒ ęĉƃĝ (D) ČĆĉƃĝ ęĉƃĝ 

50. üđėċpĈĆĔnČĆĒŔ iĉđsĒĭ ŏĘíƃĈĒı aĉīđtļ èüđĻ? 

(A) ąē ŏĘíƃĈĒı (Mie Scattering) 

(B) ćđąŒ ŏĘíƃĈĒı 

(C) ėĈėĉ ŏĘíƃĈĒı (Rayleigh Scattering) 

(D) iČėĆđnĔąĉī 

51. Ęăđœ ąđüĖíĆĒŔ, iĉĭĘŗ÷đûĒėn ĘíđûēĆ àĘČïÝ (angular momentum) 
eŗüĆđĻ? 

(A) nh/2π  (B) π2/h  

(C) h/2π  (D) π2/nh  

52. üđėċpĈĆĔnČĆĒŔ èüđĻ ŗāíđčtĒėn üćÝï ďřĄđČÝ ŗāí÷ąđkĔnļ? 

(A) ĘĂđĘŨđiĉĭŗ÷Ēĭ ŗāĄđČÝ   

(B) ĘíđÝŁƃő ŏíđƃĈĒÝį 

(C) ùĒŗĂđkŒ  

(D) bđkĝ ĘăđùĒ ČĒíĒćûÝ 

53. oćĔ ŗþČŖ üćÝïtĒėn üćÝïęþœðŖÝ aüĒėn àkÝ aĀĔďćĒcĝ 
ănėpŨĒćĒkĔnĔ : 

(A) mah /=λ  (B) ph /=λ  

(C) hp /=λ  (D) hmv /=λ  

54. ėČĭƃœ àƃÝ ąđüĖí iĀĒpĈĆĔn àčĆėt a÷ĒsđĀąđkĒĆĔllüđĻ : 

(A) iĉĭĘŗ÷đûĔíŕ ĀĒƆĒü ČĖtđíĖüĒĆĒĉĔll āđüíĊĒŔ ĀŖĕkĒĆďĒėĀ 
āćĒŗíąûÝ ėòyƧnĔ  

(B) iĉĭĘŗ÷đûĔíŕ þēœðČĖtđíĖüĒĆĒĉĔll āđüíĊĒŔ ĀŖĕkĒĆďĒėĀ 
āćĒŗíąûÝ ėòyƧnĔ 

(C) oćĔ iĉĭĘŗ÷đûĒėn ĘíđûēĆ àkÝ (angular momentum) ČŖđŁüĒĆĔÝ 
(magnitude) þĒčĆĔÝ íûkĒėĉ÷ĔtđĻ íûkđkĔnļ 

(D) oćĔ iĉĭĘŗ÷đûĒėn äœjÝ íûėk÷ĔtĒćĒkĔnĔ 
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55. ęĐŗùôėn Balmer ĘŗčûĒĆĒŔ íđûėp÷Ĕn üćÝïÝ èüđĻ? 

(A) UV  (B) IR  

(C) Visible  (D) Radio  

56. ďĕpœ íŪĭ÷ĒČĒƃĒ íđûĒkĔnļ eĘpđċđĻ? 

(A) ŗíĒŨĒkŔ üđāĀĒĉņkĝ ąĔíĊĒŔ   

(B) ŗíĒŨĒkŔ üđāĀĒĉņkĝ üđėċ  

(C) èėüŠĒĉĔÝ üđāĀĒĉĆĒŔ  
(D) čćđčćĒ üđāĀĒĉ 

57. ęĐŗùôŒ àƃtĒŔ Ęăđœ ĘąđùĉĒėn energy levels :  

(A) 2/6.13En n−=  (B) 26.13En n−=  

(C) n/6.13En −=  (D) 2/6.13En n+=  

58. ĘŗĎđùĒÝïœ ďąČđíŖtĒėn ďąĆ-ďřüŗn (time independent) ćĕāÝ : 

(A) Ψ=Ψ EH  (B) tiH ∂Ψ∂=Ψ /  

(C) tiAe ω=Ψ  (D) 0=⋅∇ E  

59. ąĒĉīœ iŒęùďĒŔ (100) ėpĆĒŒ enĝ ďĕòĒpĒkĔnĔ? 

(A) 0,0,1,, =zyx  (B) ∞→= zyx ,;1  

(C) 1;0 == yx  (D) ∞=∞= yx ;  

60. ŗăđį ĀĒĆąÝ ,sin2 ddn θλ =  íĔĈcđŔ θ  ešėĀ ąđĈĔÝ? 

(A) íĕ÷ĔÝ  (B) íĔĈĆĔÝ 

(C) ąđƃąĒĉī (D) aĀnąđĆĔÝ 

61. üđėċpĈĆĔnČĆĒŔ èüđĻ oćĔ ëœăĒƃĉĒėn ířđŪÝ ďÝîŖíŕ? 

(A) 344 === mln   

(B) 113 −=== mln  

(C) 303 −=== mln   

(D) 142 −=== mln  

62. ĀŖĕkĒĆœ ąđgƃĒĭ ėĈėďđőďĒėn (NMR) ęČþŖĔüíđnĒí ŏėāĭŗ÷tĒėn Ęąîĉ 
_______ àĻ. 

(A) ęąĘŗíđĘČŌ (B) ĘĈùĒĘĆđ ŗĂēířŒďĒ 

(C) iŒŗĂđėĈĹ (D) −UV ćōąĒíŕ 
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63. üđėċpĈĆĔnČĆĒŔ èļ ďąąĒüĒ ąĕĉíąđĻ (symmetry element) eĉīđ 
ČŏüĔkĊĒĉĔÝ íđûėp÷Ĕnļ? 

(A) Cn (B) σ  

(C) E (D) Sn 

64. oćĔ aĘĆđûĒėn sđĀòĉĀÝ ąĕĉąĔŪđíĔn ęČíĉŖÝ _______ enĈĒĆėp÷ĔnĔ. 

(A) ĘĎđŨĝíĒ ęČíĉŖÝ (B) ŗĂđŠŔ ęČíĉŖÝ 

(C) Ęćîđ ęČíĉŖÝ (D) ČĒllĉĔíŕ 

65. ĈĞŕŨĒėn ĀĒĆątĒŔ (Raoult’s law) ĀĒnĔll ėĀïƃēŌ ČŖüĒĆđĀtĒŀ uþđĐćûÝ 
èüđĻ? 

(A) ĂĒĘĀđŕ + aĀĒĉēŒ (B) etĘĀđŕ + ĘkđĘĈđĂđÝ 

(C) ėăŒďēŒ + ėąýĘĀđŕ (D) etĘĀđŕ + ėČllÝ 

66. üđėċ ėíđ÷ĔtĒćĒkĔnüĒŔ Ęíđąő aĘĆđő ŗāĄđČÝ íđûĒkĔn ĘôđùĒ 
èüđĻ? 

(A) ClNHOH,NH 44  (B) HCl  NaOH,  

(C) 3KNO  NaCl,  (D) 42 SO  AgNaCl,  

67. üĒŒėĉĆœ ėŗíđąđĘƃđŗïĂĒ (TLC) ĘpƃĒŔ ĘsĎûĈĒ ĘĂĆĒďđĆĒ ďđÿđćû 
enđĻ uāĘĆđïĒkĔnļ? 

(A) ėČllÝ  (B) ėąƃŔ 

(C) ďĒĉĒk ėôŔ (D) ëĘďđő 

68. ďĒĘĆđęĉƃĒėn ćđďďĕŗüČđíŖÝ enđĻ? 

(A) O7HFeSO 24 ⋅  (B) 4SiOZr  

(C) 42 SiOZn  (D) O2HOSiAlNa 224666 ⋅  

69. ôĉąĉĒĀēíćûtĒėn ĘĀđőĘāđĆĒnĝ Ęďđŋŏ iČĆĒŔ èüđĻ? 

(A) Ăđĭ÷ĈĒíŕ   

(B) ąĉĒĀôĉ čĔdēíćû pđnĝ 
(C) íđœĎĒí ĀēėćđċĔkĝ  
(D) eŬ čĔdēíćûčđĉíŕ 

70. üđėċ ėíđ÷ĔtĒŨƧllČĆĒŔ ĐćĒüïĖĐ Čđüíąĉīđtļ èüđĻ? 

(A) íđœăő ęù ëĭęďĹ (B) ąēėýņŒ  

(C) ëĘďđő (D) ęĀŗ÷ôŒ 
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71. ŏířĆœ pđĀđœ ĘíđÝpĭďĔíĊĒėĉ ‘d’ ëœăĒƃĉĔíĊƧė÷ äœj ĀĒĉíĊƧė÷ 
a÷ĒsđĀtĒĉĔll čćĒĆđĆ ŗíąÝ èļ? 

(A) 222 ydxdzdxydyzdxz −<<<=   

(B) 222 ydxdxydzdyzdxz −<<<=  

(C) 222 ydxdxydzdxzdyz −<<<<   
(D) 222 dzydxdyzdxzdxy <−<<<  

72. 453453 Br]SO)[Co(NHBr,]SO)Co(NH[  enē ĘíđÝpĭŏ ďÝĆĔkšŕ üđėċ 
āĈĆĔnČĆĒŔ èļ éĘďđėąĈĔíŕkĝ uþđĐćûąđĻ? 

(A) aėĆđęûĘďĎŒ éĘďđėąĈĔíŕ (B) ĉĒŒĘíĴ éĘďđėąĈĔíŕ 

(C) oŁƃĒkŔ éĘďđėąĈĔíŕ (D) ĘíđœùĒĘĀĎŒ éĘďđėąĈĔíŕ 

73. üđėċ ünĒŨƧll ďÝĆĔkšĊĒŔ èļ ďÝĆĔkąđĻ èƃČĔÝ čkĒĆĔll ęĐŗùôŒ 
ĘăđŪĝ ćĕāēíćĒkĔnļ? 

(A) HF (B) HCl 

(C) HBr (D) HI 

74. ĘăđŪĝ ëœùĈĔíĊƧė÷ a÷ĒsđĀtĒŔ ŗíąēíćĒkĔĘmđŕ, üđėċ ünĒŨƧllČĆĒŔ 
čćĒĆđĆ ŗíąÝ èļ? 

(A) –
2

–2
22 OOO >>+  (B) –2

22
–
2 OOO >> +

 

(C) +>> 2
–
2

–2
2 OOO  (D) –2

2
–
22 OOO >>+  

75. –2
8 )XeF(  ėn čćĒĆđĆ ð÷ĀđćĕāÝ àĻ : 

(A) íŖĕŃ (B) ėĐĭďïûŔ ęăāĒćąĒĹ 

(C) ŏířĆœ anĒŗāĒďÝ (D) oĭ÷ïûŔ 

76. üđėċ ünĒŨƧllČĆĒŔ èļ ĘĉđĐąđĻ ďřĆÝ ĀĒĘćđĭďēíćûÝ (self reduction) 
ČċĒ ĘČœüĒćĒėc÷ĔkĔnļ? 

(A) ďĒŠĝ (B) ėòmĝ 
(C) ďřœŬÝ (D) ėČllĒ 

77. üđėċ ünĒćĒkĔnČĆĒŔ, ířđŪÝ ĀmĈĔíĊƧė÷ (quantum numbers) ďđÿŖąĉīđt 
ïûÝ (set) èļ? 

(A) 1,2,3 −=== lmln  (B) 1,0,4 −=== lmln  

(C) 0,1,3 === lmln  (D) 2,3,5 +=== lmln  
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78. +]Cu(CO)[ X  en ĘíđÝpĭŏ aĘĆđûĒŔ ‘X’ ėn ČĒĉ eŗü àíĔĘmđŕ àĻ  

18 iĉĭĘŗ÷đő ĀĒĆąÝ āđĉĒkėp÷Ĕnļ? 

(A) 6  (B) 5 

(C) 4 (D) 3 

79. oćĔ ĘĈùĒĘĆđàĭ÷ēŌ ąĕĉítĒŀ, 23 ąĒĀĒƃƧėíđŪĝ 90 čüąđĀÝ ĀđčÝ 
ďÝĄČĒkĔnĔ eŠĒŔ, à ąĕĉítĒėn aœdđĆĔsĝ (Half life period) eŗü? 

(A) 0.0693 (B) 0.693 

(C) 6.93 (D) 69.3 

80. OC, 1414  enē ĘĈùĒĘĆđàĭ÷ēŌ éĘďđĘ÷đpƧíŕ èėüđėk ĘĈùĒĘĆĎĀĔíŕ 
utœjĒcđĻ sĒćü ęíČćĒkĔnļ? 

(A) ăēƃđ ĘĈùĒĘĆĎŒ  

(B) ĘāđďĒĘŗ÷đő 

(C) ĆýđŗíąÝ ăēƃđĘĈùĒĘĆĎĀĔÝ ĘāđďĒĘŗ÷đûĔÝ 

(D) ĆýđŗíąÝ ĘāđďĒĘŗ÷đûĔÝ ăēƃđĘĈùĒĘĆĎĀĔÝ 

81. üđāĀĒĉĆĒŔ ČŖüŖđďÝ ČćĔtđėü oćĔ Ęąđŕ àþœčČđüítĒėn (éùĒĆŔ 
ïŖđŏ) ČŖđŁüėt oćĔ ĉĒƃĈĒŔ ĀĒnĔÝ 10 ĉĒƃœ àĆĒ ČĒíďĒpĒcđŔ uŪđíĔn 

ànćĒí äœjtĒėn aĊŌ (ΔU) _________ àĻ. 

(A) 249.42 J (B) 24.942 J 

(C) 0 (D) 340 J  

82. oćĔ ďĒstĒėn aČs ĀĒœŬĆĒkĔn ðŨĀĒĆąÝ (ĘĂŏ ĀĒĆąÝ) _________ àĻ. 

(A) P + F = C + 2   

(B) P + F = C + 1 

(C) P + F = C – 2  
(D) P + F = C – 1 

83. üđėċpĈĆĔnČĆĒŔ CP KK =  en ďąČđíŖÝ ăđÿíąđíĔn ďnĔĉĒüđČs 
èüđĻ? 

(A) (g)5PCl         (g)23(g) ClPCl +   

(B) 2(g)2(g) N3H +         3(g)2NH  

(C) (g) 2COCl        (g)2(g) ClCO +   

(D) 2(g)2(g) IH +        (g)2HI  
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84. ėāđüĔ aĘĆđûĔll ćŪĝ ĉČûšŕ oćĔ ĉđĆĀĒĆĒŔ ĘòćĔĘmđŕ ČĒĘĆđôĀtĒėn 

Ęüđļ (α) _________ àĻ. 

(A) íĕ÷ĔnĔ (B) íĔĈĆĔnĔ 

(C) ąđƃąĒĉī (D) iėüđnĔąĉī 

85. aüŖÿĒíÝ uĆœn üđāĀĒĉĆĒŔ ĘĈƃĝ sĒćđŠtĒėn (ĘĈƃĝ Ęíđősƃĝ) ąĕĉŖÝ 
_________ àĻ. 

(A) 1K =  (B) ∞=K  

(C) AK =  (D) 0K =  

86. ąŧĝ _________ ėíđĘĊđņùŔ ďřĄđČąĔll ĉđĆĀĒĆđĻ. 

(A) ČđüítĒŔ ŗþđČíÝ  

(B) ČđüítĒŔ ČđüíÝ 

(C) ČđüítĒŔ îćÝ  

(D) îćtĒŔ ČđüíÝ 

87. ùđĀĒĆŔ ėďĉīđĆ Cu|(1M)CuSO|| (0.01M)OZnS|Zn 44  ėn ieÝeł 1E  àĻ. 

iüĒŔ 4SOZn ėn ďđŗnü M1  àkĒĆĔÝ 4SOCu  ėn ďđŗnü M0.01  àkĒĆĔÝ 

ąđƃƧĘmđŕ ieÝeł 2E  àĆĒ ąđĈĔnĔ. ašėĀėĆŠĒŔ üđėċ ünĒćĒkĔnČĆĒŔ 

1E  uÝ 2E  uÝ ümĒĉĔll ănÝ èüđĻ čćĒ? 

(A) 1E = 2E  (B) 1E > 2E   

(C) 1E < 2E  (D) iėüđnĔąĉī 

88. cal;2 )()(2)(2 qHxyyx ggg =Δ→+  ĘąŔpĈŧĒćĒkĔn ćđď ŗāČœtĀtĒŔ 

uŔānąđĆ xy  ĆĔė÷ ćĕāēíćû üđāÝ (Ăēƃĝ ëł ĘĂđĘąĎŒ) _________ àĻ. 

(A) q  íđĉĈĒ (B) 
2
q−  íđĉĈĒ 

(C) – q  íđĉĈĒ (D) 
2
q

 íđĉĈĒ 

89. òĔČė÷ āĈĆĔnČĆĒŔ oćĔ ćđď ŗāČœtĀtĒėĉ ďąüĔĉŖüđsĒćđŠtĒėn 
ąĕĉŖėt ďřđÿēĀĒkĔn ð÷íĘąüđĻ? 

(A) üđātĒŔ ČćĔn ąđƃÝ  

(B) ąœdtĒŔ ČćĔn ąđƃÝ 

(C) uŕĘŗāćítĒėn ďđnĒÿŖÝ  

(D) ąĔíĊĒŔ āĈŧėüđnĔąĉī 



A 099/2025 
[P.T.O.] 

17

90. üĔĉŖ aĊČĒŔ ąēėýņĀĔÝ âėýņĀĔÝ 25ºC üđāĀĒĉĆĒŔ oćĔ oċĒŧ āđŗütĒŔ 
íĉkĒ ėČcĒćĔnđŔ, ėąđtÝ ąœdtĒŔ âėýņŒ ĀŔíĔn āŠĝ _________ àĻ. 

(A) 
2
1

 (B) 
2
3

 

(C) 
3
2

 (D) 
4
1

 

91. ėăŒďēĀĒėn ð÷Ā ČŖkąđkĔn ŗāŏüđČĀ èüđĻ? 

(A) eĉīđ íđœăő àƃšĊƧÝ 3sp  ęĐŗăĒęùĘďĎŒ ŗāđāĒcĒćĒkĔnĔ. 

oćĔ ė÷ŗ÷đėĐŗùŔ àíĖüĒ uŪđkĔnĔ 

(B) íđœăő àƃšŕ 32 sp,sp  ęĐŗăĒęùĘďĎŒ onĒ÷ČĒŨĝ ąđĈĔnĔ 

(C) eĉīđ íđœăő àƃšĊƧÝ 2sp  ęĐŗăĒęùĘďĎĀĒĉĕė÷,  

ùĒĘĉđkęĉŏĹ π  iĉĭĘŗ÷đûĔíĊƧll oćĔ pđĀđœ ĎĹĄĔôÝ ćĕā 

ėp÷ĔtĔnĔ 

(D) eĉīđ íđœăő àƃšĊƧÝ sp  ęĐŗăĒęùĘďĎĀĒĉĕė÷ oćĔ ĘćîēĆ 

čĖÝîĉ ćĕāėp÷ĔtĔnĔ 

92. òĔČė÷ íđûĔnČĆĒŔ ôđąĒüēĆ éĘďđėąĈĒďÝ (geometric isomerism) ŗāí÷ąđkĔn 
ďÝĆĔkÝ èüđĻ? 

(A) âėýņŒ (B) ėŗāđėpņŒ 

(C) ăŖĕŨĝ-2-âŒ (D) ąēėýņŒ 

93. üđėċ ünĒćĒkĔnČĆĒŔ ĀĒnĔÝ ùĆđsēćĒĘĆđąĈĔíĊƧė÷ ĘôđùĒėĆ üĒćėŧ÷ĔkĔí 

(A) (+)-ĉđĭƃĒĭ àďĒĹ & (–)-ĉđĭƃĒĭ àďĒĹ 

(B) D-gƨĘkđŏ & D-ąđĘnđŏ (D-Mannose) 

(C) Cis-2-ăŖĕŨēŒ & Trans-2-ăŖĕŨēŒ 

(D) 2-ăŖĕŨĘĀđŕ & 2-ăŖĕŨĘĀđő 

94. ďąąĒüĒ (Symmetry) iĉīđtüĔÝ ćŪĝ ęíĈđŔ Ęíŗnšŕ (chiral centres) 
ullüĔąđĆ oćĔ ďÝĆĔktĒŀ ďđÿŖąđíĔn sēćĒĘĆđ éĘďđėąĈĔíĊƧė÷ eŬÝ 
eŗü? 

(A) 4 (B) 3 

(C) 2 (D) 5 
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95. ęĀĘŗ÷đ ŗïĕpĝ (–NO2) ŗāí÷ĒpĒkĔn ąēĘďđėąĈĒĭ iĂĭķ èüđĻ? 

(A) +M (B) –M 

(C) +I (D) iČėĆđnĔąĉī 

96. ćđďŗāČœtĀ ĘČĊĆĒŔ 1, 2 ąēęýŔ ĎĒłƃĝ Ā÷kđŒ ďđÿŖüĆĔll ďÝĆĔkÝ 
èüđĻ? 

(A) 1-ĘkđĘĈđėŗāđėpņŒ  

(B) 2-ĘkđĘĈđăŖĕėŨņŒ 

(C) ėăŒęďŔ ĘkđęĈĹ  

(D) 3-ĘkđĘĈđ-3-ąēęýŔėāėnņŒ 

97. ĆĕûĒĘąđĊĒíŖĔĉđœ eĉĒąĒĘĀĎŒ ėąkđĀĒďÝ Ā÷kĔnüĒŀ èƃČĔÝ aĀĔĘĆđôŖ ąđĆ 
ďÝĆĔkėt üĒćėŧ÷ĔkĔí 

(A) 1-ĘŗăđĘąđėŗāđėpņŒ  

(B) 2-ĘŗăđĘąđėŗāđėpņŒ  

(C) ė÷œĎŖĈĒ-ăŖĕęŨŔ ĘŗăđęąĹ  

(D) ąēęýŔ ĘŗăđęąĹ 

98. üđėċ ünĒćĒkĔn aĘĆđûĔíĊĒŔ ĐkŔ ĀĒĆąŗāíđćÝ àĘćđąđƃĒĭ àĆĒŨƧllļ 
èüđĻ? 

(A) ęďĘkđĘŗāđėpęĀŔ íđƃĘĆđő )H(C 33
+

 

(B) ęďĘkđėānđùĆēęĀŔ àĀĘĆđő )H(C –
55  

(C) Ęŗ÷đpĒĉĒĆÝ aĘĆđő )H(C 77
+

 

(D) eĉīđÝ 

99. ŗïĒgđœĹ ĈĒĘĆônƧąđĆĔll ćđďŗāČœtĀtĒėn ĂĉąđĆĒ ėďkŒùĈĒ 
àŔkĘĐđŕ ĀŔíĔn ďÝĆĔkÝ èüđĻ? 

(A) ĘĂđœąđŔùĒęĐĹ  

(B) aďĘƃđő 

(C) eýĀđŕ  

(D) íđœăő ùĘĆđĭęďĹ 

100. ùĒ eŒ e DNA)(  ĆĒŔ iĉīđtüĔÝ enđŔ àœ eŒ e (RNA)  ĆĒŔ íđûėp÷Ĕ 
nüĔąđĆ ęĀŗ÷ôŒ Ęăŏ èüđĻ? 

(A) aùĀĒŒ (B) ïřđĀĒŒ 

(C) ęďĘƃđďĒŒ (D) ĆĔĈđďĒŔ 

 
———————— 
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